2,

Find the volume of the figure below.

8m
12m
14m
A. 96m’ B. 844m’
C. 1344m’ D. 1244m’

Round offto the nearest one decimal point
63.391

A.63.3 - B.63.9
C.63.2 D.63.4
Find the square root of 64.

A8

47.  Convert to an improper fraction 68

A. 61 B. 16
6 6
c 38 s ol
6 6

Use the table below to answer the questions that

follow.

Day of the Mon | Tue | Wed | Thurs| Fri

week
No. of pupils | 34

S s | |55

present

48.  How many pupils were present on Thursday.
SANS3
- B.34




1 28.  What the valuc of 16™ 36.  Find the angle marked x.
A. f H 64 \
C. 256 D. 156 \-\
| N4
29.  Round ol to the nearest thousands 49678. SO0 (< A\X
A. 50000 B. 500 A. 100’ B. 80’
g 00 D. 6000 C. 90" D. 40°
30. Convert 48000m into kilometres. 37.  How many years are there in 78 months.
A. 480km B. 48km A. 615 years B.6
C. 4.8kin D. 0.48km : . |
C. g S PLo s YeRS
31. Muluply 4.62x 100=
A.406200
B.4620 - 38.  Onamap 8m werc represented by 2m. How
C.402 D.46.2 | = manymwillbe represented by 8m? _
e ﬁa i’ B A Gam. - B. 16m il
The area of the rectangle below is 504m’. What TR SR Lo

isits perimeter ifits lengthis 24m? ' '
: Ay i 1'»'&‘ F

Y X = S iy




S B e BL e Sk e el S

i6.

172

Simplity: 54

Rl 2 B. 3

36 4
0 D. 3

12 7
Convert into a mixed fraction 73
A 3 B. 7_3, L

i i
@ 35 D.mi

7 7

Which one of the following is a proper

fraction?

S BEZ
10 5
Gl DY
5 9

Convert into fraction 0.013.

»

21

24.

Multiply 4> x16 =
A 19 B. 7|?)
C.38 . |

4

What is the place value of digit 3 in461.92347

A. Hundredth B. Tenth
C. Thousandth D. Ten thousandth

s 3
Converl into decimal 4 :1_

A.34 B.434
C.4.43 D.4.75
Find the valuc of y?
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TARGETER WINGS STANDARD SIX - YEAR 2020
CONTINUOUS ASSESSMENT TEST

MATHEMATICS

TIME: 2 hours

Write one million one thousand and one in , What is the LCM of 8, 12 and 157
figures. A2 B.6

A. 101001 B. 1001001 C. 60 D. 120

C. 100101 D. 10001001

10.  What number should be multiplied by 92 to
Which digit is in ten thousands place value in get 92007
o R A. 10 B. 100

A.9 B.5 C. 1000 D. 00
& D.6 o b

{1 M\tlnply 932x21 =
Whichmoﬂhefollomm‘ s divis | : ,@m B. 18572
by4? .l | }; : 2 . S > C 2796 S XL < S
A. 962 B. M ¥ e 5 - g3 e o, it s
C. 6401 g E

i




Write the following number in figures seven
hundred and eighty nine thousand, six
hundred and forty two.

A. 79642 B. 789642

C. 7809642 D. 78962

Which digit is in ten thousands place value in
975,301?

AT B.3

€59 D.0

Whatis the total value of digittwoin423,6142

N

A.200 - B

Round offthe fo
tenth. 467
A.460

C.450

What is the prime produét of 727

A.9x8 B.4x2x9
C12x 3262, D.2x2x2x3x3

hich one of the following is not a prime




1§,

16.

i

What is the LCM of 6, 15, 12?
AT B. 60
C. 30 D. 120

What is the place value of digit 8 in 987,391?
A. Thousands B. Hundred thousands

C. Ten thousands D. Tens

Write the following number in fraction, 0.07.

A gl B,
100 10

€70 D107
100 10

Multiply 96 x 100 =

A. 960 B. 96000

C. 9600 D. 961

Which one of the following isane .
A.47 B.96

Gl

23.

24.

25.

What is the place value of digit 5 in 42.052? -
A. Tens B. Hundredths

C. Hundredths D. Tenth

What is the next number in the pattern?

23,2993ly379__
ALB9 B.43
C.41 D35
18
Simplify —
24
A B..
4 12
C. 6 D. 12
3 24

. 3 15
Write as decimal ﬁ



R e I —
1

What is the value of 2y +2=10

30. Which of the following numper is divisible 37
by 2, 5 and 10? A. 12 B
A. 15 B. 28 C.6 D.8
C.40 D. 56 :
38.  Which onc of the following is an equilateral
canole?
31.  Whichofthe following fractionsis the t:(m;:,le. 5
smallest? . :
A2 B. 2
5 3
2 i
> D. 3
A 2 G D.
52
3 3
Al BR=
3 9 39. Rid: 22632 =
L
3 13
(€= D), — 3 1
30 20 | o £
33. How many cubes make up the stalk. == = .C. ‘55-, : D. 5
P~ B e h;;
= o ey - llij_“"‘;‘ =3 §40;@ﬁ§t is the arca of a square whose length is
| 21mZAF
A. 6 B.9
C.24 D. 18
34.  Convert to an improper fraction 3&
A. 19 B. 34
> > a1
c 19 p. 13
9 5
: : >4
35.  Convert into mixed fraction %
A. 151
2& 4i
5 5
5 4
= 5—
(e 44 D. 5

36.  Simplify 2a+3b+ 4a+5b=

A.6a+5b B. 6a+3b
C. 6a+8b D.7a+8b

TW - 001



43.  Find the volume of the cuboid below. Which of the following angle is less than 90" «

B Nt

A.

A. 864m’ B. 864m’
C.96m’ D. 108m’

.~

How many litres are there in 84000m]1?
A. 84L B. 840L
C. 8400L D. 8.4L

How many -i— kg are there in 24kg.




I ————————
1

48. What is the next shape in the pattern

41. What is 6%_ in improper fraction?
Y N 8- 27 below?
27 4 0
Xy ;(( X:":,/:/, % ooo Xx ;).(( X gO OOO
27 6 Xy oy 000 IX x x 00
C.—3" ST Xix X5 ooooqu Joo:o
v VoY
42. Which symbol makes the statement O j:’/j, azs :x e
0 00 v vV v v/'/ Xx xx
below correct? 0090 A e X X
1
2 of 120 60 = x\‘:'/:’j j“fx';
C.= B X x X[y v - ‘/0\/0‘/
i i 00 o0 Xy x X006
43. Karim arranged the digits 7, 3, 5 to form a.0u0 KX X gggo
(o)
the number with the smallest value. A LLoso B
Which number did he form? s — —
v X
A. 375 B. 537 o xx"x
Vi, v KR X
€. 753 D. 357 e e 7o
: A X
44. Whatis twice the perimeter of the square S alo % Vvl lo%%
X X (o] T o
below? C. 1X'x X}jo'6 90 D. L’?{o
; 49. How many kilograms are in 3~ tonnes?
A=3745 B. 375
C. 37500 D.-3750 M.
+ oo 50. The graph below shows the amount of
X 1 geEEmas E---------- um
T 0 R e
W 35cm :
A. 140cm B. 280cm :
C. 70cm '

45. A mother shared 45 sweets among

6 childr



shop:

2 packets of milk at Shs. 50.

3 bars of soap for Shs. 330.

1kg of sugar at Shs. 120.

How much did he pay for the items?

A. Shs. 1210 B. Shs. 880
C. Shs. 550 D. Shs. 650
28. What is the reciprocal of 4%’?
A 2 =
4 E 21
21
c. & D. 5

29. What is the area of the triangie below?

A. 36cm?
C. 48cm? ( O
30. Work out: - . OIS

27. Eben bought the following items from a

34.

35.

36.

37.

A
Arrange the fraction 1, 2, 1 and
2PV

from the largest to the smallest?
alapminge2. 3
A. R

"3
4

?13:4

3 2
B.4,3»

~|-=
ol
Wy N
-:;lw ~il=

C.
2.7 35l et

Disa’, "4 @igp

How many groups of 100 are in the total

value of digit 7 in the number 5478397

A7 B. 700
A0 D. 7000
Work out: 6—;' * 3—;‘ =

3 B.41
A13

1 3
€0 - D2
The cost of 2 shirt is Shs.

the cost of 5 shirts? £
Az Shs: 400 SEEE




13. Roy sold a machine for Sh. 12000
making a profit of Sh. 2500. How much
had he bought the machine?

A. Shs. 14500 B. Shs. 13500

C. Shs. 9500 D. Shs. 12500

In a farm there are 75 cows and goats
together. -g— of the animals are goats and

14.

the rest cows. How many cows are there

in the farm?
A. 45 B. 30
G316 D. 60
15. How many rectangles are in the figure
Below?
A7 B.8
L9 D. 10
16. What is 46 in Roman numbers?
A XXXXVI B. XLIV
el (BT D. XLVI
17. What is %‘ in decimals? {

A.0.85 5k B 05
C.0.875

1

fo3.

What is the value of X in the equation?

20.
2x -5=x+2
A5 Bt
(@ D.6

1
21. What is the square root of 677
1 i
A 2+ B. 3

C.2+ D. 363¢

Tembo left home for market at 6:40am
and arrived at the market at 8:20am.
How long did he take to arrive at the
market?

A. 1 hour 20 minutes
B. 2 hours 40 minutes
C. 1 hour 40 minutes
D. 40 minutes

What is 25% of 4807
A. 120

22.
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DISTINCTION SCHOOL BASED ASSESSMENT TEST
STANDARD SIX - 2020 \ 6 \

MATHEMATICS

Time: 2H r.'.

1. What is four hundred and twenty six | 8. What is the volume of the cuboid below?
thousand two hundred and two in
figures?
A. 426202 B. 402622 5cm
C. 402622 D. 402602 s
2. What is the total value of digit 5 in the
number 6.4527 s
A. Hundredths B. 0.005
C. 0.05 D.0.5 i
3. Divide: 13 [11791 A. 6000cm’ B. 300cm?
AL B. 907 ? C. 120cm? D. 600cm?®
C. 9007 D. 197 . 9. What is the LCM of 40, 45 and 607
4. What is the next number in the pattern? B0 = B. 180
1137, 31, 29, ‘ e Bgbs
A. 23  rectar
G2l :
5. Simplify: 5k - 3n + 2k +
A. 7k + 9n :
0 =

6. Find the perimet

R =k

A ks ﬁAﬂmﬁ} 9




